Math Olympiad for Classes 6 to 8
Session 2018-19
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Note: Read all the questions carefully. Each question carries 2 marks. Put a tick (v/) markon
the correct option out of four given options for each question:

1. J& St argtit Btprret fE9° 8T Aftmi g H fa omalt 28 Aftmret I n@ar T
Choose the number which is different from the other three numbers.

a) 35 c) 39 d) 45

2.3 T U QR BRI T 5 foraft. g I 31 Qo 3s T Umw St St I wrR feT 5 oot St En
T I HER AgS udget J1 @Uﬁﬁ?ﬁﬂﬁ?&?ﬂfaﬁﬁa‘?

Nandini's house is 2 km away from her school. She walked some distance and thentook a
busfor kmto reac‘i‘n the school. Howfardidshewalk?

a) o ot (km)  |b) Sfxoft (km) | o) L ot (km) ) & o (km)

3. HAIST niUE AW UJDE BeT 15 fa.HT. 268 Ht. €t gdt gr 9rdt, 7 i@t 7+t €t gt a9 ardt »iz 500
Ht. E”re—ci’rﬁws?maaﬁ?rl @ﬂ%ﬂaﬁmgﬁnéuﬁgfaamea’rwam

Sunita travelled 15 km 268 m by bus, 7 km 7 m by car and 500 m on foot in order to reach her school.
How faris her school from herresidence?

a) 23.468 fa.Ht. (km) b) 522.968 fZ.HT. (km)
c) 22.775 fa.Ht, (km) d) 522.275 fa.HL. (km)

L19X4 +2+ (12-3) = wovoeeeererereene.
a) 44 b) 47 c) 39 d) 42

fe3 o fiz9 ¥ fdd ySte3 gar Jaea 97

5. IE{p:
|!|!|. . Whatis the percentage of the shaded portion in the given figure?

a) 80% b) 125% c) 75% d) 40%
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6. Jat fi3tnr 39" faagnit Aftmret Afg-nigw &t 9872
Which of the following are not co-prime numbers?
a) 18 mM3 35 b) 15 m3 37 c)81 M3 16 d) 17 »2 68

7. UIHI3 < BHT JIHE €T BHI © Ta1@ T 10 A& We J | Add I9Hs ©f 8HT 25 A& I 3t uaHis &t BHa
fors 7 d=ait?

Parmeet's age is 10 years less than twice of the age of Harman. If Harman is 25 years old then find
the age of Parmeet.

a) 15 years E) 40 years c) 45 years d) 35 years

8, TIar et fahor AHfHS Juret Jeit J&?
How many lines of symmetry are there in a square?

a) 1 b) 2 c)3 d)4

9. AT 10 FUT Yt oS € 9 57 18 fa@aaH »r@ wi3 15 que Y3t o8 &t €9 5% 9 fa@aeH eHeg
ydlee! J 3P 2R ga6ed § 500 U T 8 vE ‘3 §U s quT A J9ar?

Jasmeet bought 18 kg potatoes at the rate of Rs. 10 Rs. per kg and 9 kg tomatos at the rate of Rs. 15
perkg. If she gave a Rs. 500 note to shopkeeper, how much money she will get back?

a) Rs. 285 b) Rs. 315 c) Rs. 180 d) Rs. 185

Jot i3 a2 ymat 10 w3 11 &g, &3 a2 9397 ¥ Ueas § Avse 3T I 39 & udt Aqr 3 mi@e et
At 3 At T fors S |
In questions 10and 11, by observing the pattern in first two figures, fill the blank in third figure.

7 9
A A
5 8 4 10 8

a) 110 b) 108 c) 109 d) 111

% o

a) 54 b) 52 c) 48 d) 47

10.
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12. B =379 <9 uaH+HI3 3 € AE® U2 Jan3 43t J) Add 99n= & AES )39 © fued® e 3 1287 3=,
3ty 5379 © fues fA 3° faoz rers 3yt 9ty

Harjot is standing two places behind Paramjeet in a queue. If Harjot is standing on 12th place from
the end, then on which place from the end Paramjeet is standing?

a) 14%F (14th) b) 1= (11th)  ¢) 13%i/13th d) 15 (15th)

13. 31T, S5T T 14 FEHWIFT I | nTET, Ha T 16 qeH i@ I R Ag I AR A= 97
Anitais 14 steps forward to Reena. Anita is 16 steps behind to Manju. Who is atthe extreme last?

a) »ol3T (Anita)  |b) IteT (Reena) | c) Hd (Manju) d) 9H& (Raman)

14. fiemat & g= 3° 3 2 10 fie ufost war v /it | Fiag g 6 TR A 15 fie I 99 95 37 oF faed & fad
T YT T HL
Shivani took herlunch 3 hrs and 10 min ago. Iftime is 6:15 now, at whattime she took her lunch?

a) 41529 b) 3:05 = c) 5:00 d) 3:50 =

15. fa g 4 wfenr (29 fEa fadites gser 31 9= fadfies 3° amre Ba 10 file nigH ager 31 =t
oH, 6 fagHizs &t g9l 3n ags <9 8A § Zargar fdar AW Saar?
A tortoise covers 1 km distance in 4 hours. After each kilometer it rests for 10 minutes. Find the
approximate duration in which it would cover distance of 6 km.

a) 23 uiZ (hours) b) 24 ui2 (hours) |c) 25 ui2 (hours)| d) 26 ui2 (hours)

16. 99 = §a 3791 gz T wigy fO A w3 A TU S g A T8 T, e, e gerd |
A, is the region in interior of the circle enclosed by an arc on one side and a pair of radii on
the other two sides.

a) IIIt ¥ (Segment) b) migu-fenrt 43 (Sector)

¢c) /ter (chord) d) fenre (Diameter)

17. wiardet e9eH® F9Z <8 fass 3 F far Ags I nrear?

In English alphabets, at which place F comes while counting from Z.

a) 223" (22nd)  b)23=F (23rd)  |c) 217 (21st) d) 24 2 (24th)
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18. nIT € U29E oue I8 Uit AT 39|

By observing patterns, fillin the blanks:

RTVX:SUWY 1 ACEG: .........cceeee

a) ABCD b) BDFH c) BDEF d) CDEH

Jot i3 ar97e ot foR Agw 9 -3y ust dge o3 fefonmadhort <t forest Tomret et 31 s 2w X
J& foa ymst (19 mi3 20) € €39 e8|

Following bar graph represents the number of students who played different games in a school. By
observing the graph answer the following questions (19 and 20).
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19. foaie ds= T8 fefonragnt <t fasgt edles sz o fefonradhy 3 faat @ 37

By how many number cricket players exceeds volleyball players?

a) 20 b} 15 )30 d) 25
20. 2for vz T8 fefonradhn & forest Seurs tse o& fefonrgdnd S faedt 3 ... J
Numberoftennis playersis................. than the number of football player.

a) Tadt (Double) b) fEadt (Triple) |c) »fdt (Half) d) S57¥t (Quarter)

Bhinder Singh Math Master mob: 88729-12537
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